Canonbury Home Learning

Year 4/5 Maths
Summer week 10 Lesson 4- 02.07.20

Starter

Roll the two dice to create a decimal number.
Round the number to the nearest whole one.
Repeat this so that you have eight decimal numbers.
List your decimal numbers in order from largest to
smallest.

7/ 6 — 8

Extension

Roll the dice 3 times and make a decimal number
with 2 decimal places then order your decimals.
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Look carefully at the time table below for the buses that run around Hogwarts.

Station Stop Bus A Bus B Bus C
Herbology 06:30 08:30 10:30
Umbridge's Office 06:40 08:40 10:40
Boy's Dormitory 07:00 - 11:00
Clock Tower 07:20 09:20 11:20
Owlery 07:30 09:30 -
Stone Circle 07:35 09:35 11:35
Hagnd's Hut 07:50 - 11:50
Great Hall 08:10 10:10 12:10
Boat House 08:20 10:20 -
Viaduct 08:35 - 12:35
Stone Bridge 08:50 10:50 12:50
Answer the questions below using the Information from the timetable.
1) How long does it take to get from Herbology to Stone Circle? lhsm .............
2) How long does it take to get from Hagrid's Hut to Stone Bridge? 'h .........................

3) How long will you be on the bus if you got on at Herbology and got off the bus at
Stone Bridge? .. 1 LLMW: ............................................

4) Harry needs to get to Hagrid's Hut for 8:30. What bus will he need to get? ..... A ........

5) If Harry is at the Boy's Dormitory. He needs to get to the Boat House, what is the last
bus he will be able to catch? ...... g ......................................................

--------------------------------------------------------------------------------------------

8) Ron has missed Bus A and needs to be at Hagrid's Hut for 09:30, What bus will he
need to get now? .......... Cu ..................................... How late will Ron be getting to

Hagrid's Hut 2k, LMV
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(al blue AND while
Coleurs may be given in either order.
Accepl! unambiguous abbrewvialions or recognisable

misspelings.
(b) BOO
) 75
Q2.
(a) E3.48

(b)  Award TWO marks for the correct answer of £1.10
If the answer is incorrect, award ONE mark for evidence
of appropriale working, gg;
] £1.80 + 30p=£210
B0p + 40p = £1.00
£2.10 - £1.00 = wrong answer
Acrapd for ONE mark £110 OR £110p as evidence of
appropriale working.
Working must be carried through fo reach an answer for the

award of ONE mark.
Upio 2
Q3.
Gives a correct explanation which demaonstrates how the graph shows two
children could be taller than Alfie, gg;
. One person from the class is 160-169cm. Bul someone as well as
this person could be taller than Ale. 2 people range from 150-159 cm,
the other person could be 154, 155, elc
Minimally acceptable explanalion, gg.
v It cowd be 1.64, 1.58, Alfie
« |t depends on how tall the other porson in his
height group 5
«  There cowld be someansg befween 750-139 cm
whi is talier than Alfia
! Caondone incorrect use of boundary values, gg;
«  One chitd is in the range 160 em—169 cm.
Dant know how lall the athar child
betwaen 150 cm and 159 cm is
Do not accept incomplele or incorrect explanalion, gg
= Thara s T chid in the range 150 em-159 cm laller
than Alfie
+  There could be two children tater than Alfie
Q4.
{a) E£7
Accepl an answer in the range £6.75 lo £7.25 inclusive.
1
o) 4
Do not accepl a st of classes.
1
Qs.
Award TWO marks for four names correctly placed on the diagram as shown:
Alfie Donna
Megan Chen

If the answer is incorrect, award ONE mark for three names correctly placed.
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Qs.
Award TWO marks for three boxes completed comrmectly, e.g:
. not a
multiple of 5 | sttipke of 5

mulliple
e 30 3, 6, 9 etc
not a

multiple | 5,10, 20 ete | 1,2, 4, 7 otc
of 3

If thve answer is incormect, award OME mark for at least

bwe boxes compleled correcty.
Accapl mare than one comes! muitiole in any box.
Do not accapl any box confarung a correc! ruwiliple and an
roorract numbear.

Up o 2
Qr.
2,250
20001 21
Do not accep! 4 orR 4 QR2325
Qe.
(@ 7
Do not accapl -7 ar -
1
(o} Oslo
Accap! pnambiguows abbravialions or recogrisable misspelings.
1
Q9.
{a) 200
1
(o) 50
1
Q1.

Award TWO marks Tor the correct answer of 1,608
If the answer is incormect, award ONE mark for evidence of an appropriate melhod, e.4.
= B.BH85+ 1,344 =T F39
B.848 - 72349
Answer need nol be cblained for the award of ONE mark.
Up ta 2m

Q1.

Do not accept -7 or 7-
(o) -2

Q12.

Do not accept 300 (minutes)

2]

2]

(1]

2]

2]

2]
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